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QUESTION 1

What is true about a model in UML 2.0? 

A. cannot contain another model 

B. can represent only software systems 

C. is a kind of package 

D. is a kind of component 

E. can represent all system structures 

Correct Answer: C 

 

QUESTION 2

To which layers in the 4-layer metamodel hierarchy for the UML metamodel (as depicted in the exhibit) do M1 and M2
correspond? 

A. M2 = MOF meta-metamodel; M1 = UML metamodel 

B. M2 = UML metamodel; M1 = MOF meta-metamodel 

C. M2 = UML metamodel; M1 = user model 

D. M2 = user model; M1 = UML metamodel 
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E. M2 = user model; M1 = runtime instances 

Correct Answer: C 

 

QUESTION 3

Which action can continue to be enabled after it executes? 

A. AcceptEventAction 

B. ReadExtentAction 

C. ReplyAction 

D. StartOwnedBehaviorAction 

E. BroadcastSignalAction 

Correct Answer: A 

 

QUESTION 4

CORRECT TEXT 

In the exhibit, what two input sets would yield a FALSE result when invoking a ReadIs Classified Object Action?
(Choose two) 
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A. A 

B. B 

C. C 

D. D 

E. E 

F. F 

Correct Answer: CF 

 

QUESTION 5

An employee inadvertently removed all of the ownedMembers of the new BoosterMotor component from his
company\\'s development repository. The next day, the manager was unable to find some pieces of the 

Booster Motor component\\'s specification. What pieces could the manager no longer find? (Choose two) 

A. failure mode use cases 

B. the launch assembly housing the BoosterMotor 

C. test scripts for the rocket sled simulation 

D. the component repository 

E. the component\\'s isIndirectlyInstantiated attribute 

Correct Answer: AC 
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